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oT400 Tungstam 3Z 10 10 4000 500 — 500 — _— a5 '.'" — — 400 — &3 123 8,5 - max; Ig: 100 mA 135
4000 100 —_ 100 — — - s 12 — —_ 2400 — - - -- mod, pp(B); Ta{m): 500 mA; (Win)LF: 20 W
4000 120 — 1350 — — —_ Lo —_ —_ 225 — — —_ — tph, (B); Ig: 2 mA; (Win)HF: 14 W
3000 300 - 415 = —_ — l- — — — 1000 — —_ — —_ tph, {C), M/a; lg: 85 mA; (Win)HF: 37 W
4000 200 ST ST < i I T " — 1440 — — — = tgr, osg, (C); Ig: 75 mA; (Win)HF: 26 W
P1 Brown-Boveri 5 126 022 250 25 200 20 7 93 — — - — .- — — — o HF, LF, Vg3: 0 V 296
400 2 50 23 7 105 — —_ - == —_ 5 = = - -— WeolF, (A); Vg3: 0 V
P2 SFR SZ 63 05 200 45 150 10 2 i8 _— _ -_— -_— 13 — 0014 8 3.3 _— HF, MF 439
300 2% 20 13 4 R G = S - 2 — — - 4 ter, (C); Igl: 0,5 mA; (Win)HF: 0,015 W
P2 Brown-Boveri 5 63 03 250 235 250 10 2 7 —_ IM — = 4 —_ 0oL 86 7 - VHF; Fm: 100 Mc 297
] GEC 3 2 6,2 100 6 = 12 - 35 75 215 65 — - - - - - —_ WolF, (A) 2
P26 SFR SZ+3Z 63 1 500 — 30 - @ — 3 —_ = = - 2) — oo 6 10 - max; Fm: 60 Mc; pglg2: 6 1k: 90 mA -
P2/12 SFR 4BZ+4BZ 63* 16t 790 175 250 43 -_ 3 -_— — - - 7.5 — 007 8 38 - F*¥126 V, §/08 A; max; 1 tetro; (=QOQE04/20) 17
P2/40 SFR 4BZ4+4BZ 63 14% 500 — Py 5 TR | 1. — 7 -— _ —_ —_ 0 —_ 0,1 18 ] 200 max; 1 tetro et
P2/40B CSF; SFR 4BZ+4BZ (=8298) — — —_ —_ — — — —_ - = - _— == — e — 17
P2/200 SFR SZ435Z o 8 2000 — 00 — _ 4 — — — — 40 — 6,1 165 23 —_— max —_
P2/200A SFR SZ+35Z 10 8 2250 — 00— — 4 B — - 300 2 — 0.1 165 23 — max 28
2000 . 90 00 M0 60 @— — @ — @— — - 480 — — - — tgr, pp (C); Ig: 20 mA; (Win)HF: 3,2 W
P2/600 SFR SZ45Z W 20 2300 — T — — B _ = = = 700 1300* 01 23 -] 20 max; *egr, pp{C) 298
P2/600A SFR SZH+3Z 10 20 3000 — 800 — — 65 — - = 800 — 0,1 23 28 30 max 58
2800 130 600 940 90 —_ — — — — — 1900 — — — - tgr, pp, (C): Iz 40 mA; (Win)HF: 9 W
PsA SFR 5Z 4 o4 W0 — — -— — 2 - _— — — s — 0.2 8 5.5 —_— max -—
Ps SFR sZ 63 05 300 — 250 — - 24 - — —_ e 10 — 004 6 10 60 max; Fm: 300 Mc 299
00 80 230 36 7 — - — — — — 12 — — _ —_ tgr, (C); Ig: 1,5 mA; (Win)HF: 0,16 W
P10-1 Brown-Doveri 5Z 126 022 800 — 00 30 —_— 9.3 — — — — )] 16 —_ —_— _— 30 tgr, (C); Vp3: 420 V 393
P17 SFR 4BZ 4 1.4 600 — 325 - — 15 - -— — —_ 23 — 0,085 13 9.5 _— max; Fm: 100 Me; pgig2: 7; Ik: 120 mA 39
600 90 300 100 10 = = @ = ma — A — = = = tpr, (C); Iz 2,3 mA; (Win)HF: 0,26 W
P17A SFR 4BZ 63 09 600 — 00 2 — — 6 — — — — 23 —_ 0,1 1,5 &35 do max; pglg: 7,5 Ik: 120 mA 19
600 45 250 10 7 - - = — e - 40 — — — — tgr, (C); Igl: 3,5 mA; (Win)HF: 0,2 W
P17C SFR 5Z 63 145 600 — g — — 4 —_— —_ —_— —_ 23 —_ 0,1 13 9 13 max; pgig2: 5.5 Ik: 130 mA 72
oo 90 30 10 1 - - - — — 45 — — — — tge, (C); Igl: 2 mA; (Win)HF: 0,22 W
P3s SER SZ 126 06 800 — 200 — — 3 - = = 0 - 005 18 935 — max 312
800 80 00 90 22 T - 50 —_ — — [ tgr, (C); Igl: 3 mA; (Win)HF: 0,5 W
Pdo Marconi SZ 4 4 1250 — 400 — — 4 y ;- S 40 — - = . —_ max i
P40 CSF; SFR 3Z &3 13 3% — 060 — — & - = — = 3 - 01 16 8 20 max; Fm: 200 Mc; Wg2: 3,5 W; Ik: 120 mA; gglg2: 10 201
00 75 230 100 16 —_ = = = == — 33 - - = - tgr, (C); Ig1: 5 mA; (Win)HF: 0,35 W
P40B Marconi SZ 126 065 1000 — 300 - - 4 200 — - @ @— 40 — 007 — - 23 max =
P41 Ediswan 3 4 095 250 — — 45 - 44 16 36 30 - 4 - 35 7 4713 - (A); Iz pk: 30 mA; osc 243
Pso RFT SZ 126 07 1000 300 300 — — 35 - = - - 0 — 012 14 10 50 max; Wg2: 5 W; Wgl: | W; Ik 230 mA; (=5RS552) 435
Pso-1 Brown-Boveri 5Z 126 0,7 1000 250 om0 — — 4 210 — — —_ 30 — 0.1 13 12 23 max; Fm: 120 Mc;, Wg2 6 W 301
1000 55 280 180" — —_— —_ —_ _ — -_ " 50 —_— —_ — —_ mod, pp(B); *la{m)
1000 60 B0 W0 10 — — — - —_ - 6 -— — —_ _ tph, (B)
1000 B0 /O 120 10 _ _ — _ —_ _— 80 —_ —_ —_ —_— tgr, osc, (C); (Win)HF: 0.7 W
P50/2 RFT 5 126 075 800 4o 250 30 3 35 - - — — 40 —_ 012 — — - (A); spec; Wg2- 5 W 455
Ps7 SFR sZ 24 045 1000 — 400 — — 2 — — — — 43 _— 0.1 15 12 — max; Fm: 60 Mec; gplg2: 4; Tk: 110 mA 72
1000 116 280 %0 83 — — — — — - 8 — — —  — g (C) Igi: 25 mA; (Win)HF: 038 W
P61 Ediswan 3 63 o6 100 — — - - 8 17 - —_ — 4 — 33 7 4715 = {A); osc 243
P75B SFR SZ 10 18 1300 — 450 — - 2 _— —_— —_ — T _ 0,03 36 28 —_— max; Fm: 25 Mo pglg2: 3; Ik: 200 mA 310
1300 150 3% 130 22 2 — — = e —_ 1 = = o= —_ tgr, (C); Igi: 6 mA (Win)HF: 1,5 W
P77 SFR 5Z 1w 2 1300 — 430 — —_ 5 - = - — 83 — 0,05 33 24 — max; Fm: 25 Mc; ggig2: 8; Ik: 225 mA 440
1500 8O0 400 170 4o —_ —_— - — — 170 — — —_ — tgr, (C): 1gl: 12 mA; (Win)HF: 3 W
Pioo/1250 Tungsram 3Z 6 2,7 1250 — — —_— — —_— —_— T — — o — _ — —_— - max; (=2i1) -
P101/1000 Tungsram 3Z w3 1250 — - - — - - - —_ - 100 = —_ — - — mod; max —
P120-1 Brown-Hoveri 4BZ w3 000 250 500 250 — 4 - - -— — 123 — 0,1 14 16 30 max; Fm: 50 Mc T
2000 90 400 20 34 — - £ 22 — - 580 — — = mod, pp(B); la{m): 400 -mA; Vg 4100 V; (Win)LF: 1 W
2000 90 400 B0 0 - - 1‘— — = - 60— — — —  tph, (B); Vg3 £l100 V; (Win)HI: 0,2 W
1600 170 400 180 20 00— - - = - — 20 - = = - tph, (C), M/a; Vgd: 4100 V; (Win)HF: 1 W
2000 15% 400 230 3% —_ o — — -— 5 1 — —_ —_ - tgr, (C); Ve3: +100 V; (Win)HF: 1,5 W
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